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: #!/usr/koeki/bin/ruby

: def volume(radius,height)

pi = 3.141592

pi * radius**2 * height / 3
: end

ad WwN

s print("O0000O0O0OOCO0ODON\n")

: STDERR.print("OO: ")

: r = gets.chomp!.to_f£

: STDERR.print("OO: ")

: h = gets.chomp!.to_f

: printf ("0 0 : %10.2f\n", volume(r,h))
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N
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#!/usr/koeki/bin/ruby

i=2

prime = 1

print "20000000000000O0O0O00OO0"
number = gets.chomp!.to_1i

while i number

value = number 7 i
prime *= value
i+=1

end

if prime == 0

print "[:::::]\n"

else

print "[:::::]\n"

end
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name = Array.new

height = Array.new

n=20

while true
STDERR.print "ODOO7: "
nm = gets
if nm == nil

break

end
name [n] = nm.chomp
STDERR.print "O OO ?(cm): "
height[n] = gets.to_f
n+=1

end

STDERR.printf("\n 0O O 0O O \n")
i=0
while i < n
printf("YsOOO00D0O0O%5.1fcm 00 \n",
name[i], height[i])
i+=1
end

goboooooooboboobooooooooo
goooogo

shincho = Hash.new
n=20
while true




